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Dscikit-learnD A > A+—JL
Windows PowershellFET> D #&I[Zpy -m pip install scikit-learnz A

2)Jupyter notebookZ #t &

QirisT—20—F 150 DT—2IZ4{ET DODIE
from sklearn. datasets import load_iris Hg% 3}5 1.4 0.2]
iris=load_iris() (4.9 3. 1.40.2]
print(iris. data. shape) (4.7 3.2 1.3 0.2]
print(iris.data[:10]) = = o — [463.11.5072]
TR ADT—R10{TERT [5. 3.6 1.4 0.2]
print(iris. target_names) A 54301 704]
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from sklearn. model _selection import train_test_split

(train_X, test_X, train_Y, test_Y)=train_test_split(iris.data, iris. target, test_size=0. 2)
print(iris. target_names[test_Y])

print (test_Y)

print (test_X)
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from sklearn. datasets import load_digits [£ g' g' g' Ig- g' g'%
digits=load digits [0 0 0 16 9 0]
print(digits. data) _ NS

print(digits. data. shape) [0. 0. 1. ... 6. 0. 0.]
print(digits. target) [0. 0. 2 ...12. 0. 0.]
print(digits. target _names) _ [ 0. 0. 10. 12. 1. 0.1]
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from sklearn.model_selection import train_test_split .
(train_X, test_X, train_Y, test_Y)=train_test_split(digits. data, digits. target, test_size=0. 2, random_state=0) T—ARE|UIRY

from sklearn. neighbors import KNeighborsClassifier
mode |=KNe i ghborsClassifier ()

model. fit (train X train_Y) } KiEfEEELSETILTIa4Vk

print (model) -
Precision recall fl-score  support

from sklearn import metrics FRPOEMRE ERPOFUIERE FREOCHMEY HUTLE

from sklearn.metrics import accuracy_score, confusion_matrix, classification_report
pred =model. predict (test_ X) <«

score=accuracy_score(test Y, pred) KNeighborsClassifier ()
print ("score:%s % score) scores: ¥R (IEfZ3) score:0. 975
i : > [2826671985286666105 8]
print (pred[:20])
orint (test_Y[:20]) > (28266719 8.5.2 836666105 8]
print(classification_report (test_Y, pred) precision recall fl-score  support
print (confusion_matrix(test_Y, pred)) 0 100 1.00 100 27
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0 0 0 0] 6 1.00 1.00 1.00 44
9 10 0] Ji 0.95 1.00 0.97 39
8 1.00 0.90 0.95 39
— 0 0 0 1] 9 0.98 0.98 0.98 41
o I 4%
0 ONQ 0] accuracy 0.97 360
' ' macro avg 0.98 0.98 0.98 360
g 0 weighted avg 0.98 0.97 0.97 360
U



from sklearn. model_selection import train_test_split
(train_X, test_X, train_Y, test_Y)=train_test_split(digits. data, digits. target, test_size=0. 2, random_state=0)

from sklearn. neighbors import KNeighborsClassifier ﬁﬂlﬁ—tjbnf/
model=|(r_\|e i ghbqrsC lass | fier ()
g‘f‘fﬁ{-&(‘)ﬁéfga'”—x'”a'”—” from sklearn. | inear_model import Perceptron
mode |=Perceptron (max_iter=100)
from sklearn import metrics . - -
from sklearn.metrics import accuracy_score, confusion_matrix, classification_report mode l - f | t ('tl"a':'i | n_X, t ral ﬂ_Y)
pred =model.predict (test_X) pr Iﬂt (mode |:]
score=accuracy_score (test Y, pred)
print (' score:%s’ % score) 2= s
orint (pred[:201) A XA T4y EiE
print (test_Y[:20]) . . . . :
orint (olassif ication_report (test Y. pred)) from sklearn.. | mear_quel import LogisticRegression
print (confusion_matrix (test_Y, pred)) mode | =Log 1St cRegr ession O
model. fit(train X, train_Y)
print (model)
KiLf5i% (KneighborsClassifier) SVC (W E—FRZX—= V)
from sklearn. neighbors import KNeighborsClassifier £ K . t
mode |=KNe i ghborsClassifier () rom skiearn import svm
model. fit (train X train.Y) model=sym.SUC(G=IOO.,gamma=0.001)
print (model) model. fit (train X, train_Y)

print (model)
ZR@/ A N—t7ay

from sklearn. neural_network import MLPClassifier
mode |=MLPClassifier ()

model. fit(train_X, train_Y)

print (model)



B/ \—ETkaY K343k (KneighborsClassifier) ATy YER

from sklearn. | inear_model import Perceptron from sklearn. neighbors import KNeighborsClassifier from sklearn. | inear_mode! import LogisticRegression
mode |=Per ceptron (max_iter=100) mode [<KNeighbor sClassifier mode=LogisticRegression ()

: . . mode|. fit(train X, train_Y) mode!. fit(train X train Y)
model. fit(train_X, train_Y) print (mode!) or int (mode )

print (model)

precision recal| fl-score support precision recal| fl-score support precision recall fl-score support
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7 1.00 0.95 0.97 39 7 0.95 1.00 0.97 39 / 0.97  0.97 0.97 39
8 0.78 090  0.83 39 8 100 0.90  0.95 39 8 0.97 092 0.9 39
9 1.00 0.78 0.88 41 9 0.98 0. 98 0. 98 M 9 0.93 0.98 0.95 41
0.97 360
accuracy 0.94 360 accuracy 0.97 360 accuracy
ILCE A
weighted avg 0.94 0.94 0.94 360 weighted avg 0.98 0.97 0.97 360 ' ’
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from sklearn import svm

from sklearn. neural_network import MLPClassifier sty — mode |=svm. SVC (C=100. , gamma=0. 001)
mode I=MLPClassifier ) FEETIL IE AR 3% mode . fit (train X, train Y)

model. fit(train_X, train_Y) Ki&ﬁif 0.97 print (model)

pr | nt (mOde | ) o precision recall fl-score support

precision recall fl-score support ﬁm — ’ I\ >
l\ -lz n‘/ 094 0 1.00 1.00 1.00 21
0 1.00 1.00 1.00 27 1 0.97 1.00 0.99 35
1 0.94 0.91 0.93 35 o 2 1.00 1.00 1.00 36
2 0.97 1.00 0.99 36 A3 3 1.00 1.00 1.00 29
3 1.00 1.00 1.00 29 gEl \— 't’j I“D/ 096 4 1.00 1.00 1.00 30
4 1.00 1.00 1.00 30 5 0.97 0.97 0.97 40
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